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4_Fiery Contestants

(15 points)

Time Limit: 1 second
Memory Limit: 256MB

Statement

There are N fiery contestants, numbered 1, 2, ..., N, standing in a line from left to right.

Each of these N contestants plays two games: Wuthering Shin and Gen Waves. Contestant 7 is level a; in
Wuthering Shin and level b; in Gen Waves.

These contestants have an annoying habit of taunting others based on their game levels. If a contestant's
levels in both Wuthering Shin and Gen Waves are greater than or equal to the levels of the first contestant
to his right, he will taunt that first contestant to his right. If a contestant has no one to his right, he will not
taunt anyone. Note that each contestant only cares about the first contestant to his right and will not taunt
anyone further to the right.

Your task is to remove some contestants from the line so that no one remaining will taunt anyone else,
while maximizing the number of contestants left in the line.

Input Format

The first line contains a positive integer T, representing the number of test cases.
Each test case consists of three lines:

The first line contains a positive integer IV, representing the number of contestants.

The second line contains N positive integers ay, as, . . ., ay, representing the Wuthering Shin levels of the
contestants.

The third line contains IV positive integers by, bs, . . ., by, representing the Gen Waves levels of the
contestants.

Output Format

For each test case, output a single line containing the maximum number of contestants that can remain
without any taunting occurring.

Constraints

e 1<T <10000
e 1< N<3x10°

The sum of N over all test cases does not exceed 3 x 10°
1<a; <10°
1<b; <10°
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Test Cases

Input 1

1111
4321
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Output 1

lllustrations

For the first test case, all contestants can stay without any taunting.
For the second test case, only contestant 3 needs to be removed.

For the third test case, it's impossible to keep more than one contestant, but any one contestant can be
kept.
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